Bellwork  Alg 2 Wednesday, September 18, 2019

a) State if it is Arithmetic, Geometric, or Neither b) State the next four terms
1:012,22,42.72;.... 2. 262440,174960,116640,77760...
3. 100,102,98,106,90,... 4. 84,82.8,81.6,80.4,79.2,...

Use each formula to find the first 6 terms in the sequence.

5. 0)=-1 fl)=4 fn) =fin-2)-2fn—1)

B —64(%>H

7. Write a recursive and explicit formula for each sequence.
a) 15,2,-11,-24,... b) 1215,-405,135,-45,15,...

8. Write each series in Sigma Notation.
a) 7+28+112+448 +1792 +...+458752 b) 9+21+33+45+57+...+165

9. Find each sum, if it exists. Round to the nearest thousandth if necessary.
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c) 240+ 360 + 540 + 810 +... d) 4802+686+98+...+42—9 e) 78 +65+52+39+...+-91

10. A business has an income of $120,000 its first year. Each of the following years their income
increases by 10%. :
a) Write a formula for their total income for the first 8 years.

b) Find this total income.

11. The first term of an arithmetic sequence is 18 and the 14th term is 239. Write the general (explicit)
formula for this sequence.
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9. Find each sum, if it exists. Round to the nearest thousandth if necessary.

1l ©
a) > -71+6(n-1) b) Zn(%)"'l
n=l1

= FINITE AZITHMETI( NFINITE beo = 3/y ty =
n=1| 'h':—"ll
1]
L, = -n+elii-) = =
< ‘i l7_‘~// 5’ ,"3/7 44
R L(~7r+—/;) ~
Sy = 5.5(=82)
{ <
‘\,\s\fa" i
c) 240 + 360 + 540 + 810 +... d) 4802 + 686 + 98 +.. +429 e) 78+ 65+ 52+ 39 +...+-91
InFINITE 6E©C Ficed FINITE At d= — i3
FINTE 662 r= 3 L =g PR |

==/'S
= 4602 it -78/_,5(/'*[)

{:I
Wﬂ’l L . ~16g = =13 (1)
13 =nN—f
= 9@1(0”/) n=1y
7 (s #= 1)

::45@02_.%2._7 o .7(,‘;5)
= GloL l%? ;/__?/ ‘

| CE

10. A business has an income of $120, 000 its first year. Each of the following years theirincome
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11. The first term of an arithmetic sequence is 18 and the 14th term is 239. Write the general (explicit)
formula for this sequence.
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